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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.

Q.1

Q.2

Q3

Answer any six out of Ten. (2 Marks Each)
1. State any four properties of water and give their S.1. units.
State various types of flow.
Define hydrostatics and hydro kinematics.
Differentiate ideal fluid and real fluid.
Enlist pressure measuring equipment.
6. Classify type of flow as per Reynolds’s No
7. Give difference between potential energy and kinetic energy
9. What is equivalent pipe? State the equation for finding diameter of equivalent pipe.
9. . Define: 1) Path Line II) Stream Line
10. Write Chezy’s and Maning’s formula
A) Write short note on Piezometer

nhwo

OR
A) State and explain continuity equation
B) Give assumptions and limitations of Bernoulli’s theorem.
OR
B) List various head losses in flow through pipe
C) Water flows with a velocity 3.0 m/sec in a pipe of diameter 30 cm. and length 90 metre. Find
head loss due to friction if coefficient of friction is £=0.003.
OR
C) A compound pipe line 1.62 km long is made up of pipes 45 cm diameter for 10 km, 37.5 cm
for 0.50 km and rest of 30 cm diameter. If the pipes are required to be replaced by uniform
diameter pipe having same total length of pipe line. Find uniform diameter of pipeline
D) Explain simple U-tube Manometer with neat sketch
A) Explain all the hydraulic co efficient

OR
A) Explain HGL and TEL
B) In specific gravity of oil is 0.9, find its density
OR

B) Explain all the hydraulic co efficient
C) convert the following: 4.0 m height of oil of specific gravity 0.7 in to N/em2 (2) 2.1 KPa ata
point in to equivalent head of water.
OR
C) A simple manometer contains mercury to measure pressure of water flowing in the pipe.
Mercury level in the open tube is 80 mm higher than that on left limb. If height of water in the left
tube is 50 mm. Find pressure in pipe in terms of head of water in meter
D) A pipe of 35cm dia. branches in to the two pipes of dia. 25 cm &10 cm respectively. The flow
in larger branch is 2/3 of main pipe and remaining discharge is through the smaller branch pipe
determine the rate of flow in the main pipe,, if the average velocity of flow in any of the pipe not
to exceed 4.0m/s.
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